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Exercise set (4.5):

Exercise 4.5 P.239: Quick check ex.3
P.240: 14-15(b)-16(a-b)-17(a-c-d)-22-23-24-33(b)




/QUICK CHECK EXERCISES 4.5 (See page 242 for answers.)

3. Use the accompanying figure to evaluate
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EXERCISE SET 4.5

13-16 Sketch the region whose signed area is represented by
the definite integral, and evaluate the integral using an appro-

priate formula from geometry, where needed.
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17. In each part, evaluate the integral, given that
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22. Find /1 [Bf(x) — g(x)] dx if
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23. Find / f(x)dx if
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33-34 Use Theorem 4.5.6 to determine whether the value of
the integral is positive or negative.
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